ITI Turner 2nd Year Module 7 Tool Setting and Data Input

(1). What is marked as "X"? | ”X”%Wﬁﬁl’%ﬂ?ﬂ%?

(A) Shim | R
(B) Clamp screw | aﬁtr@

(C) Insert | ET\‘TCF
(D) Clamp | FAT

Correct Answer : B

(2). What is the name of part marked as 'x'? | N EE:] Ira'sifa?d HHAT HhTATH
T g?
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(A) Tool post | T URC

(B) Work rest | G XX
(C) Chasing rest | TSI IE
(D) Chaser | TOR

Correct Answer : C

(3). What is the name of device shown in figure? | ICER: RG] ‘TQ]%H@W
T T g?

1

(A) Tool box | ;aa”m
(B) Tool guide | ¢ Tllg S
(C) Tool holder locking fixture | @@@WW

(D) Tool holder collet | €I BIeaR BIaic

Correct Answer : C

(4). What is "TO1"” in MO6T01; in FANUC program? | MO6TO01 H "TOl"GP:IT%;

FANUC UTITH H?

(A) Tool offset no:1 | ¢d MBI TET: 1
(B) Tool no:6 | 3R T=T: 6




(C) Tool no:1 | E\FT:IER S
(D) Tool wear offset no:01 | 3R forTg 3ThAe T 01

Correct Answer : A

(5). What is the formula used to estimate CNC tool life? | CNC ¢ efIgt™h bl

SITHM T & foTg fore 1 1 IuaT fora STt 82
(A) V({t)h=C|V(t)n=C

(B) V/(T)n=C

(C) Vxt=C

(D) t(V)n=C

Correct Answer : A

(6). What is marked as "X" in tool holder? | @Wﬁ”ﬂ%@ﬁﬁ%ﬂw
87

(A) Retention knob | EI’[%T%I'ITUTEKSOI
(B) Taper shank | %QT%

(C) Flange | Q%TST

(D) Opposed slot | foudtd wiie

Correct Answer : A



(7). What is the clearance of boring bars for CNC lathe? | CNC WR[q %ﬁ“l'qﬁhﬁ'ﬂ
IR D! FART FT] ?

(A) 10°
(B) 5°
(C) 7°
(D) 3°

Correct Answer : C

(8). Which tool material is quite brittle be and have a low bending strength? |

forg oot HefRaa # - st g g1t & wd fyead (HR) giar g?
(A) Ceramics | RRfi&

(B) High speed steel | 3= TTfcl S¥UTA

(C) Carbides | PIEZS

(D) Carbon steel | BTa Wi

Correct Answer : A

(9). Which mode is used for fine slide movement manually for work offset setting?

| BT 3Hthe AT & forg Agera U ¥ 3le Wigs Jarc & ot e Ag &
ST a1 STt 52

(A) JOG

(B) MPG
(C) MDI
(D) Edit | 94T

Correct Answer : B



(10). What is 'C" in the ISO designation of CNC lathe boring bar S32USKKCR12? |

et @Y ST SR $32USKKCR12 & 150 UG | 'C’ T 82
(A) Shank diameter | ]I ST

(B) Clearance angle | IR WIdl

(C) Shank type | 2P UPR

(D) Tool length | €& &1 aTs

Correct Answer : B

(11). Which letter symbol is used to indicate 0° relief angle of inserts? | Wé%

0° el et &) g1 & fore forg s1er & g &1 v foran ST 82
(A) N
(B) A
(C) B
(D) C

Correct Answer : A

(12). Which tool material is suitable for cutting very hard material such as, non-

ferrous material, plastics? | \’rl?’ﬁ_s'ﬂm"/ﬁ, WIReH St ATID B R JIEM bl
Hled & fo o9 W ¢d Ireh Suged 82

(A) Ceramics | RRfH®
(B) Diamonds | SHE (ER)
(C) Carbides | BTEIES
(D) Stellites | TATSE

Correct Answer : B



(13). Which property of cutting tool has ability to withstand various cutting forces

during machining? | W@ﬁ%ﬁﬁﬁ%%%ﬁﬁ-ﬁww
&1 AT B D1 &GHAT BT 62

(A) Toughness | TH-Y
(B) Hardness | B'Iﬁﬁ
(C) Brittleness | foea g
(D) Softness | TqIge-g

Correct Answer : A

(14). What is 'R" in ISO designation for CNC lathe tool holders? | CNC WR[q Gilﬂlq

YR®! & ol 150 T H R FT 87
s LT LL, SR

(A) Insert shape | W@Ia:ﬂ
(B) Clearance angle | FeaNY T

(C) Style | Rcil
(D) Cutting direction | HIe P fa=m

Correct Answer : D

(15). What is the shape of tool insert for letter ‘L'? | 3&X 'L’ %mgﬁﬁéﬁ

3T FAT B &2
(A) Rectangle | JHSBIT
(B) Square | ait



(C) Round | A
(D) Triangular | [ECIWIR]

Correct Answer : A

(16). What is the ‘M’ in the ISO standard for specifying tool insert for example

CNMG120408? | FITEF IETERUT CNMG 120408 & [T T 3T o faTT IS0 A
H M R T g?

(A) Relief angle | Rl &I
(B) Shape of the insert | sﬂ{-ICCW DR

(C) Tolerance value | g Hed
(D) Geometrical features | WTW@'@W’Q

Correct Answer : C

(17). What is 'T" in ISO standard for specifying tool insert TNMG12048? |

TNMG12048 T 3¢ B! HIGE HR- & [l 150 AHS & T FT 62
(A) Diamond shaped | SIS U

(B) Triangular shaped | EAIéQF!ﬂ?QU

(C) Square shaped | THTOR AU

(D) Rectangular shaped | %EQ?!("‘I?‘@I’G

Correct Answer : B

(18). Which offset is used to adjust the dimension of the component due to tool

wear involve? | @W%WW% S{TATH &1 FHRANST B & ford frg
3iTThIC BT TN fobaT SATelT B2

(A) Work offset | SR AHTHIC




(B) Geometry offset | I 3hde
(C) Wear offset | e fuarg
(D) Zero offset | Q]Eq&m_é

Correct Answer : C

(19). What is the property has the ability to retain hardness under severe working

conditions? | TTHR &1 &1 RFRUTTA A SR 91U W= ot &HdT 1 Uraet
T S?

(A) Toughness | THAg
(B) Hardness | fﬂéﬁﬂ
(C) Softness | qIge-g
(D) Brittleness | foea g

Correct Answer : B

(20). Which offset has to be taken to make the tool to move with reference to the

job in CNC machine? | CNC TR H i<l & HeH & USR] ol RIMHIaRd B
& U 1 I7 3T ae AT USaI 8?

(A) Work offset | b BT

(B) Geometrical offset | I 3Thde
(C) Wear offset | fomR mpae

(D) Tool offset | QFT&TW’C’

Correct Answer : A

(21). Which type of tool material is non metal? | WWWEW S{YUId

87



(A) High speed steel | 8T8 WS Tld
(B) Carbon steel | @& X Id

(C) Stellites | IATZCH

(D) Diamond | STTHS

Correct Answer : D

(22). What is 'S" in the ISO designation of CNC lathe boring bar S32USKKCR12? |

T T FIRAT IR $32USKKCR12 & IS0 UGATH | 'S’ T 82
(A) Shank type | Xi® UPR

(B) Shank diameter | Qb SRHIER

(C) Tool length | IUHRTT DI TS

(D) Cutting direction | mﬁﬁ%m

Correct Answer : A

(23). What is name of part of a throw away tip tool-holder marked as 'x’? | 'x’ &

w0 T iR o 310 feu ga-gieex & Ul &1 1H R1 82

(A) Chip breaker | IELELT



(B) Shim | IRH
(C) Holder | BIG8Y
(D) Insert | 37\‘47:;

Correct Answer : D

(24). What is 'C" in ISO standard for specifying tool insert - CNMG120408? | ﬁ’%g

JCTERUT CNMG120408 & el ¢ 3¢ o oIl 1so A& H ‘¢ T 82
(A) Relief angle | el i

(B) Shape of the insert | sﬂ{-ICCW PR

(C) Tolerance classes | ﬂ%&}ﬁ$&rrq
(D) Geometrical features | WTW@'@W

Correct Answer : C

(25). How many parameters are compulsory to select CNC tool holder? | CNC ¢¢i

gIeE Y b1 T B b foTd fohd TRTHIER Ifard g2

(A) 5

(B) 3
(C) 4
(D) 2

Correct Answer : C



